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therefore, that witiioiit tlie adoption of tlie device of intercalation, no

practical calendar can be constructed. The objects to be sou<,'lit are the

niaxinuun of uniionnity, sunnietry and convenience. Onr calendar is

perhaps in no point so coi>s|)icuons as in the absence <.f iill these quali-

ties; beside.**, it gives no substantial advantages to offset the great irre-

gularities v.hich have been so gratuitously intrcduced. Of the time

divisions just named, the day is already adjusted to all the others, and may,

therefore, for the present be dismissed, excepting as a constituent of the

other time divisions. The week has never been adjusted either to tho

month or to the yoar or its quarters. The month has been adjusted to

the yeai-, but in a most unsatisfactory ti ^er, ti.e months varying a.,

present from 28 to 31 days in duration. It therefore appears that

inasmuch as the day and the year are invariaWe and are already arranged

by the Gregorian calendar, tiie week and the month only remain to be

adjusted. But we have already concluu-d that the week must not be

disturbed, hence any important change is precluded in any time division

other than the month. It is very fortunate that this is the case, for the

month hiss it;' origin in the phenomena of the night, and the I.loon way

be ignored far more conveniently than the Sun.

It is very clear that a Gregorian year cannot be secured without

intercalation, we nnist, therefore, be ])repared to accept the inevitable.

At the same time we munt secuie what uniformity we can with the

least possible inconvenience. It may be accepted as. a ])rinciple that ^
"

change must he made unless it is warranted by clearly preponderating

advantages.

Let us first examine the ordinary year of 365 days. We find the

only measures of 3Ga to be 5 ar-d 73, and therefore it is cleaily a very

inconvenient number of days to deal with, for a week of 5 day.s, or a

month of 73 days which does not consist of a whole n;;mber of weeks,

is out of the question. Let us lay m^v^o another day with our Leap Yea**

Day to be dealt with hereafter. We have 364 days leff. Now the

measures of 364 are 2, 4, 7, 13, 14, 28, 52, 91 and 182. Taking these

factors into consideration and neglecting the smaller measures, we find

that 28 is divisible by 2, 4, 7 and 14 ; 52 is divisil)le by 2, 4, 13 and

26; 91 is divisible by 7 and 13. The year of 304 days is, therefore,

divisible into 2 half years or 4 quarters, or 13 months or 52 weeks,

each of the.se q larters being exactly divisible into 13 weeks, and each

month containing exactly four weeks. Such a year involves a change


